Radio Interference Suppression Filters

Three-phase filters

Typical circuit diagram

UNE LOAD

L1 o { - ‘ o L1

L2 o — 1 ‘ o L2

L3 o i T T —% | o L3
T

PD30_00026
4EF15 10-1AA10 ... 4EF15 10-8AA10, 4EF15 12-7AA10

Dimensions
8 133,7
PE M4x11 ]
1P et b
(32}
8 ©
= -
Y o} o Y
PD30_00037
Terminals 4 mm?2
0
<
"""""""""" . < User-defined mounting
E o t; Marking } t;
LSl 5 ILINE LOAD| 32
,,,,,,,,,,,,,,,,,,,, =
155
~ 165 _
4EF15 10-1AA10
e 199,5
PE M5x15
OO e
8
2 |[a=olE
oo || 8 Iji
s 5
Terminals 4 mm?
<4 e T M&rﬁﬁéﬁij LT User-defined mounting
<3 2 | -]
\ i3 (LINE LOAD | |34k
‘_ 221 “
|t 231 -

4EF15 10-2AA10



Radio Interference Suppression Filters

Three-phase filters

- 200 ‘
—.— ‘ 1995 | PE M6x24 ]
PE M5x15 | | N
©9 [P 199 I Rilis
o
o 8 3 o 3 S
© S, S]
oo | |3 &' ._'+ = o 2
L = = ** 8 o o) ‘_‘
o
Terminals 4 mm2 0 Terminals 10 mm?2 LJ
~ <
| S T i =il el 7 |
z 3 t; | Marking | t;' o o MeqL1 | Marking L1 [@) a
< ILINE LOAD | . o8 M@fL2 ! 'L2'f@
r—msts LSPe v LI@{L3 | LINE LoAD | L3 fzlll)
- 221 | e . ‘
231 255 7}
265
4EF15 10-3AA10 4EF15 10-4AA10, 4EF15 10-5AA10
User-defined mounting User-defined mounting
s PE M6x24 ]
: |-
0
8 5
o Iy
CTT o) o) o) ‘ﬂ Y
PD30_00043 *
Terminals 16 mm2 ©
B e L &:7"' User-defined mounting
ob [THEILT , 1Lt fle
B8 o2 ! Marking L2 [le|
L3 I INeE LOAD | L3' |2
255
265
4EF15 10-6AA10
240 80
25 | ,.13
2
o
8\
o
i a
‘ o
0
(s
o
=}
PE M10x34 ] 74
y rrry
‘ 290 46
Terminals 35 mm?2
L — Je I User-defined mounting
ol L1 i } L1
oflL2 ! Marking ! L2' 3
o= lune_ toapi LY ‘
— ) ®
255

4EF15 10-7AA10



Radio Interference Suppression Filters

Three-phase filters

Typical circuit diagram

UNE LOAD

L1 o ( = \ o L1

L2 o — 1 | o L2

L3 o i T T —% | o L3
T

PD30_00026

4EF15 10-1AA10 ... 4EF15 10-8AA10, 4EF15 12-7AA10

Dimensions
240 90
25 13
i i
o
©
/ - 3
PE M10x34 l‘w T 3
- T )
PD30_00053 *
L 290 | 46
Terminals 35 mm?2
[T}
—_°1 User-defined mounting
O L1 . } Lrfe | b
ofLe Marking i Lo [[o 2
oJL3 LINE LOAD} L3'[|© L
[ — s 'y I
» 255 _
4EF15 10-8AA10
Terminals 50 mm?2
‘ 326 90
‘ 240 - 708
A
<
Yo} — = =
| L B
s | &
- .l - - Fan
© A
@© o
PE M10x34 :f_w ©
Y Y
PD30_00044
- 255 - *
270
0
H_© ) User-defined mounting
L1 T e i
) i
L2 | Marking | Lo 9
I LINE LOAD ! \
LB IR = l

4EF15 12-7AA10



Radio Interference Suppression Filters

Three-phase filters

Typical circuit diagram

JE—
PD30_00028

4EF15 11-0AA10

Dimensions
Terminals 95 mm? Strand End sleeve
110 ) 400 ) 500 )
‘ L T ‘
1 Tom ’ .
I
g | D |
S DT
o i
- (22}
- ~
| | L8 Y,
PE
M10x3§ 430 Strand designation
F 415
i)
© ) .
B ] User-defined mounting
L1f|o 4 Varki 1 A
I === arking === | Q
Lo r=== LINELOAD| =EEE= ol 2
L3 LL° F 1 ¥

) PD30_00031
4EF15 11-0AA10



Radio Interference Suppression Filters

Three-phase filters
Typical circuit diagram

LINE
L1

L2

PD30_00027

4EF15 11-1AA10 ... 4EF15 11-6AA10

Dimensions
.30, 30, w40, w40,
| 29 Y | | o1
8,7Eﬂ EE QT B &
1 A - -
0, e 10 15 15
250 290
76 145 182
$¢2 6,6 el @12 170
I Ao U : S € -
L1 ‘ i o L1 | 4 -
® L ==Lt i === ==L
2 g 2 *Lzr%—— Marking 1> 8] 2 S E 3 o L2—~=‘—=§f——— Marking kL2 88
- o o 8‘ ‘ LINE LOAD ‘ A - 3 ' LINE LOAD! t | <
3 L3~ ‘ L3 e L3} =13
- 2 @ o ! & 3 s
= ‘ j fl . - & o
110 200 116 230
4EF15 11-1AA10 4EF15 11-2AA10, 4EF15 11-3AA10
User-defined mounting User-defined mounting
40 40
¥ B
g
i -
15_ ||
290
78,2
a2 212 . 170
o ® o 7 | User-defined mounting
L1 - '
! E g mz*ﬂ:“—:ii Markin 7%311
S s g Loetf—f MANNI L B> 8 8
- c g ‘ LINELOAD| [ = <
\ = g g L3-== =13 ‘
) oo ® o ¥
116 230

4EF15 11-4AA10



Radio Interference Suppression Filters

Three-phase filters

52 52
— »’7«
1 o14
o [
A S — |
20, . - ‘4>—<go
370
89,7
25 240
— [
@12
o - ® o 1 User-defined mounting
L1
— \ 1 -
O oo‘ i =-L1
Marking
o| o o © S ., vl o
N Lzrﬁ(‘ F—— 0 *'i“F‘ 12" o ©
N < et LINE LOAD NN
Y [ & | | \
[ e S ;I Lsﬂ:“j‘ }il‘sﬁl_?’
8 & o > ® & Y
140 | 300
4EF15 11-5AA10
92 92
+ | 14
= |
© |
* |
I
— : —
40 ‘ 140
20 450 20
89,7
25 212 240
_ s o 1 Userdefined mounting
L1 !
FEEg el i s
I
o Marki .
é LINE LOAD N
| {:igzﬁﬁzﬁ ;‘ L3-em===} i {E===-13
[a]
L —@-o 7(%7® o-¢ ¥
[
140 B 300 _

4EF15 11-6AA10



Radio Interference Suppression Filters

Three-phase filters

Typical circuit diagram

LINE

LOAD

o LT

o L2

4EF15 11-7AA10, 4EF15 11-8AA10

oL3

PD30_00024

Dimensions
50 200 - 300
= Terminals 4 mm?2 - | Strand
L3' -
g | © ' : f L2
g v—‘ Y ] u)né L1 8‘
: Sl RS [
} b
PE End sleeve
M6x25 230 Strand designation
215 o
[}
(i N afi .
== Marking = "ol User-defined mounting
L3t: == |LINE LOAD| == DJ ““ s,

4EF15 11-7AA10, 4EF15 11-8AA10

Typical circuit diagram

tbNE o LOAD
L1 o } i o L1
L2 o } i oL2
L3 o— J_ i oLy

4EF15 12-8AA10, 4EF15 12-0AA10 ... 4EF15 12-6AA10

PD30_00025

Dimensions
60 ‘ 250 . 400
— = -
Strand
Terminals 6 mm?2
L3'
UO7 M\ - ——]ﬁ‘ = o
- @ T 2 \“\ \“m“\
© L1 S}
N8 ot ; B 0 PE ©
o 5] 1 o'+ e o
B ) ’ | ‘ S
PE } *
M6x25 End sleeve
) 280 Strand designation
F 265
Te]
©
_ o User-defined mounting
L|§1 = ==| Marking | = %7}, | ©
) == == |LINE LOAD| = == | | “”7“’
o o 1
PD30_00048

4EF15 12-8AA10, 4EF15 12-0AA10




Radio Interference Suppression Filters

Three-phase filters

Typical circuit diagram

LtNE . LOAD
L1 o } ! i o LT
L2 o— - i oL
L3 o— _L - ‘ oLy

PD30_00025
4EF15 12-8AA10, 4EF15 12-0AA10 ... 4EF15 12-6AA10

Dimensions
60 300 500

)
{

HHHH Terminals 16 mm?

150
b

=

52
30
=
05

‘ T
PE *
M6x25 End sleeve
Strand designation
_ 330 _
- 315 — | o
©
; A -defi i
tég Marking I ol User-defined mounting
= = = = O
130 . LINE LOAD ‘ o !
PD30_00030
4EF15 12-1AA10
80 ‘r 300 i 500
T ° | Terminals T 7
= 25 mm? :
o i
Yo}
N~
wiwn LQ+
o o «© - oy 4
PE End sleeve
M10x35 330 Strand designation
315 ©
SE
L1[o * b User-defined mounting
= = Marking | &= = . | ©
[¢] == ==
L3O o o TS5 3
PD30_00049

4EF15 12-2AA10



Radio Interference Suppression Filters

Three-phase filters

80 « 300 500
T 1 E ~
y — ° 9 F ] o S
% Strand
— £
= S
° =
] n
o
o
! L o o, ;
End sleeve
PE M10x35 330 Strand designation
315 -
User-defined mounting
L1]© 7
= == | Marking | == = |
L20 [ e— LINE LOAD| —F£o
L3lo ° °
4EF15 12-3AA10 PD30_00034
90 ‘ 350 500
| |
] T o ° C - o o i
Terminals Strand
[} |somme i
[8\)
A
o
=4
Pl
PE
End sleeve
M10x35 380 Strand designation
365
0
© I User-defined mounting
L1|o] T i )
Lolo = == == | Marking %%%,,jmw
[e— i e— c— — X T—— | o
L3lo] Ll pu Y
4EF15 12-4AA10, 4EF15 12-5AA10 PD30-00085
Terminals 95 mm 2 Strand End sleeve
110 - 400 500
‘ | |
0
I
SRS
Q- - i
(8]
: 5 |
- % o
~
o
¥ - . E ‘7(0* |
PE
M10x3§ 430 - Strand designation
415
0
©
_ User-defined mounting
L1[|o 4 -
Lilsss MW ===1 Tg'g
= = == |LINELOAD| = == -
L3| | 11T 1
E =

4EF15 12-6AA10

PD30_00036





